

RESEARCH ARTICLE

On some properties of generalized Fibonacci and Lucas polynomials

Sümeysra Uçar

Department of Mathematics, Balıkesir University, Turkey
 sumeyraucar@balikesir.edu.tr

ARTICLE INFO

Article History:

Received 05 October 2016

Accepted 16 June 2017

Available 17 July 2017

Keywords:

Generalized Fibonacci polynomials

Generalized Lucas polynomials

AMS Classification 2010:

11B39, 11C20

ABSTRACT

In this paper we investigate some properties of generalized Fibonacci and Lucas polynomials. We give some new identities using matrices and Laplace expansion for the generalized Fibonacci and Lucas polynomials. Also, we introduce new families of tridiagonal matrices whose successive determinants generate any subsequence of these polynomials.



1. Introduction

In [16], $h(x)$ -Fibonacci polynomials are defined by $F_{h,0}(x) = 0$, $F_{h,1}(x) = 1$ and $F_{h,n+1}(x) = h(x)F_{h,n}(x) + F_{h,n-1}(x)$ for $n \geq 1$. $h(x)$ -Lucas polynomials are defined by $L_{h,0}(x) = 2$, $L_{h,1}(x) = h(x)$ and $L_{h,n+1}(x) = h(x)L_{h,n}(x) + L_{h,n-1}(x)$ for $n \geq 1$. Therefore some properties of these polynomials are presented in that paper.

Let $p(x)$ and $q(x)$ be polynomials with real coefficients, $p(x) \neq 0$, $q(x) \neq 0$ and $p^2(x) + 4q(x) > 0$. In [9], it was defined generalized Fibonacci polynomials $F_{p,q,n}(x)$ as

$$F_{p,q,n+1}(x) = p(x)F_{p,q,n}(x) + q(x)F_{p,q,n-1}(x), \quad n \geq 1 \quad (1)$$

with initial values $F_{p,q,0}(x) = 0$, $F_{p,q,1}(x) = 1$ and generalized Lucas polynomials $L_{p,q,n}(x)$ as

$$L_{p,q,n+1}(x) = p(x)L_{p,q,n}(x) + q(x)L_{p,q,n-1}(x), \quad n \geq 1 \quad (2)$$

with the initial values $L_{p,q,0}(x) = 2$, $L_{p,q,1}(x) = p(x)$. In that paper, it was derived factorizations

and representations of polynomial analogue of an arbitrary binary sequence by matrix methods. In [11], it was given factorizations of Pascal matrix involving (p, q) -Fibonacci polynomials. In [19], it was obtained some arithmetic and combinatorial identities for the (p, q) -Fibonacci and Lucas polynomials. In Section 2, we obtain some basic properties of generalized Fibonacci and Lucas polynomials. In Section 3, we give some properties of these polynomials using 2×2 matrices. In Section 4, we make the proof of two identities concerning generalized Fibonacci and Lucas polynomials using Laplace expansion of determinants. In Section 5, we give new families of tridiagonal matrices whose successive determinants generate any subsequence of the generalized Fibonacci and Lucas polynomials.

2. Generalized Fibonacci and Lucas polynomials

Let $p(x)$ and $q(x)$ be polynomials with real coefficients, $p(x) \neq 0$, $q(x) \neq 0$ and $p^2(x) + 4q(x) > 0$. In this section, firstly we consider the generalized Fibonacci polynomials $F_{p,q,n}(x)$ defined in (1). The first six generalized Fibonacci polynomials are given in the following table :

$$\begin{aligned}
 F_{p,q,1}(x) &= 1 \\
 F_{p,q,2}(x) &= p(x) \\
 F_{p,q,3}(x) &= p^2(x) + q(x) \\
 F_{p,q,4}(x) &= p^3(x) + 2p(x)q(x) \\
 F_{p,q,5}(x) &= p^4(x) + 3p^2(x)q(x) + q^2(x) \\
 F_{p,q,6}(x) &= p^5(x) + 4p^3(x)q(x) + 3p(x)q^2(x).
 \end{aligned}$$

For $p(x) = x$ and $q(x) = 1$ we have Catalan's Fibonacci polynomials $F_n(x)$; for $p(x) = 2x$ and $q(x) = 1$ we have Byrd's polynomials $\varphi_n(x)$; for $p(x) = k$ and $q(x) = t$ we have generalized Fibonacci numbers U_n ; for $p(x) = k$ and $q(x) = 1$ we have k -Fibonacci numbers $F_{k,n}$; for $p(x) = q(x) = 1$ we have classical Fibonacci numbers F_n (for more details see [2], [4], [8], [10], [18] and the references therein).

The generating function $g_{F,p,q}(t)$ of the generalized Fibonacci polynomials $F_{p,q,n}(x)$ is defined by

$$g_{F,p,q}(t) = \sum_{n=0}^{\infty} F_{p,q,n}(x)t^n. \tag{3}$$

From [11], we know that the generating function of the generalized Fibonacci polynomials $F_{p,q,n}(x)$ is

$$g_{F,p,q}(t) = \frac{t}{1 - tp(x) - t^2q(x)}. \tag{4}$$

Theorem 1. Assume that $p(x)$ is an odd polynomial and $q(x)$ is an even polynomial. Then $F_{p,q,n}(-x) = (-1)^{n+1}F_{p,q,n}(x)$ for $n \geq 0$.

Proof. From (3), and (4), we have

$$\sum_{n=0}^{\infty} F_{p,q,n}(-x)(-t)^n = \frac{-t}{1 - tp(x) - t^2q(x)}$$

and

$$\begin{aligned}
 \sum_{n=0}^{\infty} (-1)^{n+1} F_{p,q,n}(-x)t^n &= \frac{t}{1 - tp(x) - t^2q(x)} \\
 &= \sum_{n=0}^{\infty} F_{p,q,n}(x)t^n.
 \end{aligned}$$

Then the proof is follows. □

Binet's formulas are well known among the Fibonacci numbers. Let $\alpha(x)$ and $\beta(x)$ be the roots of the characteristic equation

$$v^2 - vp(x) - q(x) = 0, \tag{5}$$

of the recurrence relation (1). From [9], we know that

$$F_{p,q,n}(x) = \frac{\alpha^n(x) - \beta^n(x)}{\alpha(x) - \beta(x)}, \text{ for } n \geq 0, \tag{6}$$

where

$$\left. \begin{aligned}
 \alpha(x) &= \frac{p(x) + \sqrt{p^2(x) + 4q(x)}}{2}, \\
 \beta(x) &= \frac{p(x) - \sqrt{p^2(x) + 4q(x)}}{2}.
 \end{aligned} \right\} \tag{7}$$

Notice that $\alpha(x) + \beta(x) = p(x)$, $\alpha(x)\beta(x) = -q(x)$ and $\alpha(x) - \beta(x) = \sqrt{p^2(x) + 4q(x)}$.

Theorem 2. For $n \geq 1$, we have

$$\begin{aligned}
 &F_{p,q,n}(x) \\
 &= 2^{1-n} \sum_{j=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n}{2j+1} p^{n-2j-1}(x)(p^2(x) + 4q(x))^j.
 \end{aligned}$$

Proof. From (7), we have

$$\begin{aligned}
 &\alpha^n(x) - \beta^n(x) = 2^{-n} [(p(x) + \sqrt{p^2(x) + 4q(x)})^n \\
 &\quad - (p(x) - \sqrt{p^2(x) + 4q(x)})^n] \\
 &= 2^{-n} \left[\sum_{j=0}^n \binom{n}{j} p^{n-j}(x)(\sqrt{p^2(x) + 4q(x)})^j \right. \\
 &\quad \left. - \sum_{j=0}^n \binom{n}{j} p^{n-j}(x)(-\sqrt{p^2(x) + 4q(x)})^j \right] \\
 &= 2^{-n+1} \sum_{j=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n}{2j+1} p^{n-2j-1}(x)(\sqrt{p^2(x) + 4q(x)})^{2j+1}.
 \end{aligned}$$

From the equation (6), then we obtain

$$\begin{aligned}
 F_{p,q,n}(x) &= \frac{\alpha^n(x) - \beta^n(x)}{\alpha(x) - \beta(x)} = \frac{\alpha^n(x) - \beta^n(x)}{\sqrt{p^2(x) + 4q(x)}} \\
 &= 2^{-n+1} \sum_{j=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n}{2j+1} p^{n-2j-1}(x)(p^2(x) + 4q(x))^j.
 \end{aligned}$$

□

In [12], definitions of Chebyshev polynomials of the first and second kinds are given by the followings (resp.)

$$T_n(x) = \cos n\theta \text{ and } H_n(x) = \frac{\sin[(n+1)\theta]}{\sin \theta},$$

where $x = \cos \theta$, $0 \leq \theta \leq \pi$.

We know that the generating functions of Chebyshev polynomials of the first and second kinds are

$$\sum_{n=0}^{\infty} T_n(t) z^n = \frac{1 - tz}{1 - 2tz + z^2}$$

and

$$\sum_{n=0}^{\infty} H_n(t) z^n = \frac{1}{1 - 2tz + z^2},$$

respectively. Also we can write Chebyshev polynomials of the first and second kinds as follows:

$$T_n(t) = \frac{n}{2} \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} \frac{(-1)^j}{n-j} \binom{n-j}{j} (2t)^{n-2j}$$

with $T_0(t) = 1$ and

$$H_n(t) = \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^j \binom{n-j}{j} (2t)^{n-2j}$$

with $H_0(t) = 1$ (for more details one can see [3], [13] and [17]).

Theorem 3. For $n \geq 1$, we have

$$F_{p,q,n}(x) = i^{n-1} q(x)^{\frac{n-1}{2}} H_{n-1} \left(\frac{p(x)}{2i\sqrt{q(x)}} \right),$$

where $i^2 = -1$ and

$$H_n(t) = \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^j \binom{n-j}{j} (2t)^{n-2j}$$

with $H_0(t) = 1$ is the Chebyshev polynomial of the second kind.

Proof. We know that the generating function for the second kind Chebyshev polynomial $H_n(t)$ is

$$\sum_{n=0}^{\infty} H_n(t) z^n = \frac{1}{1 - 2tz + z^2}.$$

Let $z = iy\sqrt{q(x)}$ and $t = \frac{p(x)}{2i\sqrt{q(x)}}$. Then we get

$$\begin{aligned} \sum_{n=0}^{\infty} i^n y^n q(x)^{\frac{n}{2}} H_n \left(\frac{p(x)}{2i\sqrt{q(x)}} \right) \\ = \frac{1}{1 - yp(x) - y^2q(x)} \end{aligned}$$

or

$$\begin{aligned} \sum_{n=0}^{\infty} i^n y^{n+1} q(x)^{\frac{n}{2}} H_n \left(\frac{p(x)}{2i\sqrt{q(x)}} \right) \\ = \frac{y}{1 - yp(x) - y^2q(x)}. \end{aligned}$$

From the equation (4), we find

$$F_{p,q,n}(x) = i^{n-1} q(x)^{\frac{n-1}{2}} H_{n-1} \left(\frac{p(x)}{2i\sqrt{q(x)}} \right).$$

□

Now, we consider the generalized Lucas polynomials $L_{p,q,n}(x)$ defined in (2). The first six generalized Lucas polynomials are given in the following table :

$$\begin{aligned} L_{p,q,1}(x) &= p(x) \\ L_{p,q,2}(x) &= p^2(x) + 2q(x) \\ L_{p,q,3}(x) &= p^3(x) + 3p(x)q(x) \\ L_{p,q,4}(x) &= p^4(x) + 4p^2(x)q(x) + 2q^2(x) \\ L_{p,q,5}(x) &= p^5(x) + 5p^3(x)q(x) + 5p(x)q^2(x) \\ L_{p,q,6}(x) &= p^6(x) + 6p^4(x)q(x) \\ &\quad + 9p^2(x)q^2(x) + 2q^3(x). \end{aligned}$$

For $p(x) = x$ and $q(x) = 1$ we have Lucas polynomials $L_n(x)$; for $p(x) = k$ and $q(x) = t$ we have generalized Lucas numbers V_n ; for $p(x) = k$ and $q(x) = 1$ we have k -Lucas numbers $L_{k,n}$; for $p(x) = q(x) = 1$ we have classical Lucas numbers L_n (for more details see [5], [7], [10], [18] and the references therein).

The generating function $g_{L,p,q}(t)$ of the Lucas polynomials $L_{p,q,n}(x)$ is defined by

$$g_{L,p,q}(t) = \sum_{n=0}^{\infty} L_{p,q,n}(x) t^n.$$

From [11], we know that the generating function of the generalized Lucas polynomials $L_{p,q,n}(x)$ is

$$g_{L,p,q}(t) = \frac{2 - tp(x)}{1 - tp(x) - t^2q(x)}. \tag{8}$$

Theorem 4. Assume that $p(x)$ is an odd polynomial and $q(x)$ is an even polynomial. Then we have

$$L_{p,q,n}(-x) = (-1)^n L_{p,q,n}(x), \text{ for } n \geq 0.$$

Proof. Using the equation (8), the proof is clear. □

From [9], we know that Binet's formula for $L_{p,q,n}(x)$ is

$$L_{p,q,n}(x) = \alpha^n(x) + \beta^n(x) \text{ for } n \geq 0,$$

where $\alpha(x)$ and $\beta(x)$ are the roots of the characteristic equation (5). Using Binet formulas for the generalized Fibonacci and Lucas polynomials, we obtain the following corollaries.

Corollary 1. For $n \geq 0$, we have

$$L_{p,q,n}(x) = p(x) F_{p,q,n}(x) + 2q(x) F_{p,q,n-1}(x). \tag{9}$$

Corollary 2. For $n \geq 0$, we have

$$\alpha^n(x) = \frac{L_{p,q,n}(x) + \sqrt{p^2(x) + 4q(x)}F_{p,q,n}(x)}{2}$$

and

$$\beta^n(x) = \frac{L_{p,q,n}(x) - \sqrt{p^2(x) + 4q(x)}F_{p,q,n}(x)}{2}.$$

Corollary 3. For $n \geq 0$, we have

$$L_{p,q,n}^2(x) - (p^2(x) + 4q(x))F_{p,q,n}^2(x) = 4q(x)(-1)^n.$$

Corollary 4. For $n \geq 0$, we have

$$F_{p,q,2n}(x) = F_{p,q,n}(x)L_{p,q,n}(x).$$

As similar to Theorem 3, we can give the following theorem giving the relation between $L_{p,q,n}(x)$ and $T_n(x)$. Since its proof is similar to that of Theorem 3, we omit it.

Theorem 5. For $n \geq 0$, we have

$$L_{p,q,n}(x) = 2i^n q(x)^{\frac{n}{2}} T_n \left(\frac{p(x)}{2i\sqrt{q(x)}} \right),$$

where $i^2 = -1$ and

$$T_n(t) = \frac{n}{2} \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} \frac{(-1)^j}{n-j} \binom{n-j}{j} (2t)^{n-2j}$$

with $T_0(t) = 1$ is the Chebyshev polynomial of the first kind.

3. Some new identities for generalized Fibonacci and Lucas polynomials

In [19], it was defined generalized Fibonacci and Lucas polynomials with negative subscript of the following form:

$$\left. \begin{aligned} F_{p,q,-n}(x) &= \frac{-F_{p,q,n}(x)}{(-q(x))^n}, \\ L_{p,q,-n}(x) &= \frac{L_{p,q,n}(x)}{(-q(x))^n}. \end{aligned} \right\} \quad (10)$$

In this section we find some identities using the following 2×2 matrices

$$A = \begin{bmatrix} p(x) & q(x) \\ 1 & 0 \end{bmatrix} \text{ and } B = \begin{bmatrix} 0 & 1 \\ q(x) & p(x) \end{bmatrix}.$$

Indeed the above matrices satisfy $X^2 = p(x)X + q(x)I$. We obtain some new identities using 2×2 matrices of the form

$$X^2 = p(x)X + q(x)I. \quad (11)$$

In the following theorems we use the proof methods like as [18].

Theorem 6. If X is a square matrix of the form $X^2 = p(x)X + q(x)I$, then we have

$$X^n = F_{p,q,n}(x)X + q(x)F_{p,q,n-1}(x)I,$$

for any integer n .

Proof. It can be easily seen that $X^n = F_{p,q,n}(x)X + q(x)F_{p,q,n-1}(x)I$ for every $n \in N$ using mathematical induction. Now we show that $X^{-n} = F_{p,q,-n}(x)X + q(x)F_{p,q,-n-1}(x)I$ for every $n \in N$. Let $K = p(x)I - X$, then we have

$$\begin{aligned} K^2 &= (p(x)I - X)^2 \\ &= p^2(x)I - p(x)X + q(x)I \\ &= p(x)K + q(x)I. \end{aligned}$$

So we get $K^n = F_{p,q,n}(x)K + q(x)F_{p,q,n-1}(x)I$. Then

$$\begin{aligned} (-q(x))^n X^{-n} &= K^n \\ &= F_{p,q,n}(x)K + q(x)F_{p,q,n-1}(x)I \\ &= F_{p,q,n}(x)(p(x)I - X) \\ &\quad + q(x)F_{p,q,n-1}(x)I \\ &= F_{p,q,n+1}(x)I - F_{p,q,n}(x)X. \end{aligned}$$

Thus using the equation (10), we find

$$X^{-n} = \frac{-F_{p,q,n}(x)X}{(-q(x))^n} + \frac{F_{p,q,n+1}(x)I}{(-q(x))^n}$$

and

$$X^{-n} = F_{p,q,-n}(x)X + q(x)F_{p,q,-n-1}(x)I.$$

□

Theorem 7. Let X be an arbitrary 2×2 matrix. Then $X^2 = p(x)X + q(x)I$ if and only if X is of the form

$$X = \begin{bmatrix} a & b \\ c & p(x) - a \end{bmatrix}, \text{ with } \det X = -q(x)$$

or $X = \delta I$ where $\delta \in \{\alpha(x), \beta(x)\}$, $\alpha(x) = \frac{p(x) + \sqrt{p^2(x) + 4q(x)}}{2}$ and $\beta(x) = \frac{p(x) - \sqrt{p^2(x) + 4q(x)}}{2}$.

$$\begin{aligned}
 F_{p,q,n}(x) &= |C(n-1)| \\
 &= C([1, 2], [1, 2])\tilde{C}([1, 2], [1, 2]) \\
 &+ C([1, 2], [1, 3])\tilde{C}([1, 2], [1, 3]) \\
 &+ C([1, 2], [2, 3])\tilde{C}([1, 2], [2, 3]) \\
 &= |C(2)|F_{p,q,n-2}(x) + p(x)i\sqrt{q(x)} \\
 &(-i\sqrt{q(x)})F_{p,q,n-3}(x) + (-q(x)).0 \\
 &= F_{p,q,3}(x)F_{p,q,n-2}(x) \\
 &+ p(x)q(x)F_{p,q,n-3}(x).
 \end{aligned}$$

Then we get

$$\begin{aligned}
 F_{p,q,n}(x) &= F_{p,q,3}(x)F_{p,q,n-2}(x) \\
 &+ q(x)F_{p,q,2}(x)F_{p,q,n-3}(x).
 \end{aligned}$$

If we choose the first three rows of $C(n-1)$, there are only four 3×3 submatrices of $C(n-1)$ whose determinants are not equal to zero.

$$\begin{aligned}
 C([1, 2, 3], [1, 2, 3]) &= \begin{vmatrix} p(x) & i\sqrt{q(x)} & 0 \\ i\sqrt{q(x)} & p(x) & i\sqrt{q(x)} \\ 0 & i\sqrt{q(x)} & p(x) \end{vmatrix} \\
 &= |C(3)| = F_{p,q,4}(x), \\
 C([1, 2, 3], [1, 2, 4]) &= \begin{vmatrix} p(x) & i\sqrt{q(x)} & 0 \\ i\sqrt{q(x)} & p(x) & 0 \\ 0 & i\sqrt{q(x)} & i\sqrt{q(x)} \end{vmatrix} \\
 &= i\sqrt{q(x)}|C(2)| = i\sqrt{q(x)}F_{p,q,3}(x), \\
 C([1, 2, 3], [1, 3, 4]) &= \begin{vmatrix} p(x) & 0 & 0 \\ i\sqrt{q(x)} & i\sqrt{q(x)} & 0 \\ 0 & p(x) & i\sqrt{q(x)} \end{vmatrix} \\
 &= -p(x)q(x), \\
 C([1, 2, 3], [2, 3, 4]) &= \begin{vmatrix} i\sqrt{q(x)} & 0 & 0 \\ p(x) & i\sqrt{q(x)} & 0 \\ i\sqrt{q(x)} & p(x) & i\sqrt{q(x)} \end{vmatrix} \\
 &= -i\sqrt{q(x)}q(x).
 \end{aligned}$$

Their corresponding cofactors are

$$\begin{aligned}
 \tilde{C}([1, 2, 3], [1, 2, 3]) &= (-1)^{6+6}|C(n-4)| \\
 &= F_{p,q,n-3}(x), \\
 \tilde{C}([1, 2, 3], [1, 2, 4]) &= (-1)^{6+7}i\sqrt{q(x)}|C(n-5)| \\
 &= -i\sqrt{q(x)}F_{p,q,n-4}(x), \\
 \tilde{C}([1, 2, 3], [1, 3, 4]) &= 0, \\
 \tilde{C}([1, 2, 3], [2, 3, 4]) &= 0.
 \end{aligned}$$

By the Laplace expansion in [14], we have

$$\begin{aligned}
 F_{p,q,n}(x) &= |C(n-1)| \\
 &= C([1, 2, 3], [1, 2, 3])\tilde{C}([1, 2, 3], [1, 2, 3]) \\
 &+ C([1, 2, 3], [1, 2, 4])\tilde{C}([1, 2, 3], [1, 2, 4]) \\
 &+ C([1, 2, 3], [1, 3, 4])\tilde{C}([1, 2, 3], [1, 3, 4]) \\
 &+ C([1, 2, 3], [2, 3, 4])\tilde{C}([1, 2, 3], [2, 3, 4]) \\
 &= F_{p,q,4}(x)F_{p,q,n-3}(x) \\
 &+ i\sqrt{q(x)}F_{p,q,3}(x)(-i)\sqrt{q(x)}F_{p,q,n-4}(x).
 \end{aligned}$$

Then we get

$$\begin{aligned}
 F_{p,q,n}(x) &= F_{p,q,4}(x)F_{p,q,n-3}(x) \\
 &+ q(x)F_{p,q,3}(x)F_{p,q,n-4}(x).
 \end{aligned}$$

By the mathematical induction, we prove the other identities in the equation (12). \square

Let $D(n)$ be the $n \times n$ tridiagonal matrix given of the following form:

$$D(n) = \begin{pmatrix} \frac{p(x)}{2} & i\sqrt{q(x)} & & & & \\ i\sqrt{q(x)} & p(x) & i\sqrt{q(x)} & & & \\ & i\sqrt{q(x)} & p(x) & & & \\ & & & \ddots & & \\ & & & & \ddots & \\ & & & & & i\sqrt{q(x)} & p(x) \end{pmatrix}$$

Theorem 9. For any integer k ($1 \leq k \leq n-1$), we have

$$\begin{aligned}
 L_{p,q,n}(x) &= L_{p,q,k}(x)F_{p,q,n-k+1}(x) \\
 &+ q(x)L_{p,q,k-1}(x)F_{p,q,n-k}(x). \tag{13}
 \end{aligned}$$

Proof. From $k=1$ to $k=n-1$, the equation (13) becomes the followings:

$$\begin{aligned}
 L_{p,q,n}(x) &= L_{p,q,1}(x)F_{p,q,n}(x) \\
 &+ q(x)L_{p,q,0}(x)F_{p,q,n-1}(x), \\
 L_{p,q,n}(x) &= L_{p,q,2}(x)F_{p,q,n-1}(x) \\
 &+ q(x)L_{p,q,1}(x)F_{p,q,n-2}(x), \\
 &\dots \\
 L_{p,q,n}(x) &= L_{p,q,n-2}(x)F_{p,q,3}(x) \\
 &+ q(x)L_{p,q,n-3}(x)F_{p,q,2}(x), \\
 L_{p,q,n}(x) &= L_{p,q,n-1}(x)F_{p,q,2}(x) \\
 &+ q(x)L_{p,q,n-2}(x)F_{p,q,1}(x).
 \end{aligned}$$

It is clear that $L_{p,q,n}(x) = 2|D(n)|$, for $n \geq 1$. From the Corollary 1, we have $L_{p,q,n}(x) = p(x)F_{p,q,n}(x) + 2q(x)F_{p,q,n-1}(x)$. Then we get

$$\begin{aligned}
 L_{p,q,n}(x) &= L_{p,q,1}(x)F_{p,q,n}(x) \\
 &+ q(x)L_{p,q,0}(x)F_{p,q,n-1}(x).
 \end{aligned}$$

The rest of the proof can be completed similar to the proof of the Theorem 8. \square

In [19], for $m = 0$ in the equation (3.9) coincides with our Theorem 9 for $k = n - 1$.

5. Generalized Fibonacci and generalized Lucas polynomials subsequences

In this section we obtain another applications of Lemma 1 in [1]. We generalize the family of tridiagonal matrices to a subsequence of generalized Fibonacci (resp. generalized Lucas) polynomials which is a family of tridiagonal matrices whose successive determinants are given by that polynomials. To do this, we use the following identities.

For $n \geq 1$ we have

$$F_{p,q,m+n}(x) = L_{p,q,n}(x)F_{p,q,m}(x) + (-1)^{n+1}q^n(x)F_{p,q,m-n}(x) \tag{14}$$

and

$$L_{p,q,m+n}(x) = L_{p,q,n}(x)L_{p,q,m}(x) + (-1)^{n+1}q^n(x)L_{p,q,m-n}(x). \tag{15}$$

These identities was proved in [15] for $p(x) = k$ and $q(x) = 1$. We give the following theorems using the proof methods given in [1].

Theorem 10. *Let $M_{\alpha,\beta}(n), n = 1, 2, \dots$ be the family of symmetric tridiagonal matrices whose elements satisfy following conditions :*

$$\begin{aligned} m_{1,1} &= F_{p,q,\alpha+\beta}(x), \\ m_{2,2} &= \left[\frac{F_{p,q,2\alpha+\beta}(x)}{F_{p,q,\alpha+\beta}(x)} \right], \\ m_{1,2} &= m_{2,1} \\ &= \sqrt{m_{2,2}F_{p,q,\alpha+\beta}(x) - F_{p,q,2\alpha+\beta}(x)}, \\ m_{j,j+1} &= m_{j+1,j} = \\ &= \sqrt{(-1)^\alpha q^\alpha(x)}, \quad 2 \leq j \leq 3, \\ m_{j,j} &= L_{p,q,\alpha}(x), \quad 3 \leq j \leq k, \end{aligned}$$

with $\alpha \in \mathbb{Z}^+$ and $\beta \in \mathbb{N}$. The successive determinants of this family of matrices is

$$|M_{\alpha,\beta}(n)| = F_{p,q,\alpha n+\beta}(x).$$

Proof. We use the principle of mathematical induction. We have

$$|M_{\alpha,\beta}(1)| = \det F_{p,q,\alpha+\beta}(x) = F_{p,q,\alpha+\beta}(x)$$

and

$$\begin{aligned} |M_{\alpha,\beta}(2)| &= \left| \begin{array}{cc} F_{p,q,\alpha+\beta}(x) & \sqrt{m_{2,2}F_{p,q,\alpha+\beta}(x) - F_{p,q,2\alpha+\beta}(x)} \\ \sqrt{m_{2,2}F_{p,q,\alpha+\beta}(x) - F_{p,q,2\alpha+\beta}(x)} & \left[\frac{F_{p,q,2\alpha+\beta}(x)}{F_{p,q,\alpha+\beta}(x)} \right] \end{array} \right| \\ &= F_{p,q,2\alpha+\beta}(x). \end{aligned}$$

Now we assume that $|M_{\alpha,\beta}(n)| = F_{p,q,\alpha n+\beta}(x)$ for $1 \leq k \leq n$. Then by Lemma 1 in [1] and (14) we have

$$\begin{aligned} M_{\alpha,\beta}(n+1) &= m_{n,n} |M_{\alpha,\beta}(n)| - m_{n,n-1}m_{n-1,n} |M_{\alpha,\beta}(n-1)| \\ &= L_{p,q,\alpha}(x) |M_{\alpha,\beta}(n)| - (-1)^\alpha q^\alpha(x) |M_{\alpha,\beta}(n-1)| \\ &= L_{p,q,\alpha}(x)F_{p,q,\alpha n+\beta}(x) + (-1)^{\alpha+1}q^\alpha(x)F_{p,q,\alpha n+\beta-\alpha}(x). \end{aligned}$$

Using the equation (14), we get

$$\begin{aligned} M_{\alpha,\beta}(n+1) &= F_{p,q,\alpha+\alpha n+\beta}(x) \\ &= F_{p,q,\alpha(n+1)+\beta}(x). \end{aligned}$$

□

Theorem 11. *Let $R_{\alpha,\beta}(n), n = 1, 2, \dots$ be the family of symmetric tridiagonal matrices whose elements satisfy the following conditions :*

$$\begin{aligned} r_{1,1} &= L_{p,q,\alpha+\beta}(x), \\ r_{2,2} &= \left[\frac{L_{p,q,2\alpha+\beta}(x)}{L_{p,q,\alpha+\beta}(x)} \right], \\ r_{1,2} &= r_{2,1} \\ &= \sqrt{r_{2,2}L_{p,q,\alpha+\beta}(x) - L_{p,q,2\alpha+\beta}(x)}, \\ r_{j,j+1} &= r_{j+1,j} \\ &= \sqrt{(-1)^\alpha q^\alpha(x)}, \quad 2 \leq j \leq 3, \\ r_{j,j} &= L_{p,q,\alpha}(x), \quad 3 \leq j \leq k, \end{aligned}$$

with $\alpha \in \mathbb{Z}^+$ and $\beta \in \mathbb{N}$. The successive determinants of this family of matrices is

$$|R_{\alpha,\beta}(n)| = L_{p,q,\alpha n+\beta}(x).$$

Proof. We use the principle of mathematical induction. We have

$$|R_{\alpha,\beta}(1)| = \det L_{p,q,\alpha+\beta}(x) = L_{p,q,\alpha+\beta}(x)$$

and

$$\begin{aligned} |R_{\alpha,\beta}(2)| &= \left| \begin{array}{cc} L_{p,q,\alpha+\beta}(x) & \sqrt{m_{2,2}L_{p,q,\alpha+\beta}(x) - L_{p,q,2\alpha+\beta}(x)} \\ \sqrt{m_{2,2}L_{p,q,\alpha+\beta}(x) - L_{p,q,2\alpha+\beta}(x)} & \left[\frac{L_{p,q,2\alpha+\beta}(x)}{L_{p,q,\alpha+\beta}(x)} \right] \end{array} \right| \\ &= L_{p,q,2\alpha+\beta}(x). \end{aligned}$$

Now we assume that $|R_{\alpha,\beta}(n)| = L_{p,q,\alpha n+\beta}(x)$ for $1 \leq k \leq n$. Then by Lemma 1 in [1] and (15) we find

Sümevra Uçar received the Ph.D degree in Mathematics from the Balıkesir University in Turkey, in 2015. She is currently Research Assistant at the Department of Mathematics in Balıkesir University. Her

research areas are Möbius Transformations, Finite Blaschke Products, Generalized Fibonacci and Lucas Polynomials, Fibonacci and Lucas numbers.

An International Journal of Optimization and Control: Theories & Applications (<http://ijocta.balikesir.edu.tr>)



This work is licensed under a Creative Commons Attribution 4.0 International License. The authors retain ownership of the copyright for their article, but they allow anyone to download, reuse, reprint, modify, distribute, and/or copy articles in IJOCTA, so long as the original authors and source are credited. To see the complete license contents, please visit <http://creativecommons.org/licenses/by/4.0/>.